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o 2 pH BOD(mgL) S 5 B8 B $(MPN/ 100m1)
s RS BRHES | B2 | om | mn-Bx | m n B~BX | m 0 s EET 0 Bi~Bx m/ n
BI~BX x vy [ %
AT () 1 - 1] C =] ~ 96| 3 [ / ~ 0 12 0.6 | ~[24] 0 12 | 0.6 24 0 12 0 ~ 8 o /
) () 1- ol c = ~lo7 [ a4/ ~ 0 12 07 ] ~[27] 0 12 o7 | ~[27] 0 12 0 ~ o of /
A F(H) 1 - 51 C o ~l92] 6 [ / ~ 0 24 08 | ~[88] 1 24 | 08| ~[88] 1 12 | 83 ~| 28] o /
HF(Z) 2 - 1l aa ] « ~[s2] 0|/ ~ 0 12 05| ~[r1[ 1 12 [<os] ~[11] 1 12 | 83 ~ 3[ o /
HFN(L) 2 - ol | 1 ~[90l 1 [/ ~ 0 12 05 ~[16] 3 1205 ~[16] 3 12 | 25.0 ~ o o[ /
EIGD) 3 - 1 A= ~[89 [ 3 [/ ~ 0 12 5] ~los] o 12 [<05] ~[os8] 0 12 0 ~ 4 o[/
3 - 2 A& ~lo5]| 8 | / ~ 1 36 05 ~[16] 0 36 |05 ~[16] 0 24 0 ~ 10l o /
3 - 3 A [ = ~lo1 [ 1 [/ ~ 0 12 5] ~[32] 3 12 [<o5] ~[32] 3 12 | 25.0 ~| 23] of /
4 - 1 A ] o ~[82] o |/ ~ 0 12 «0.5] ~[<0.5] 0 12 [<05] ~[<0.5] 0 12 0 ~l 4l ol /
4 - ol aa | « ~[s7 [ 1 [/ ~ 1 12 05 ~[19] 3 12 [<o5] ~[19] 3 12 | 25.0 ~| 19 of /
4 - 3l A [ o ~[83] 0o [/ ~ 3 12 05 ~[13] 1 12 [<o5] ~[13] 1 12 | 83 ~ 3 o[/
5 - 1] A | = ~[s1 [ o/ ~ 0 12 05 ~[10] 0 12 [<5] ~[10] 0 12 0 ~ 4 o[ /
5 - 2ol A | & ~[82] o |/ ~ 1 12 5] ~ 0 36 (05 ~T11] 0 36 0 ~[ 10l o /
5 - 3] A | = ~l s [ o/ ~ 0 12 05 ~ 0 12 [<o5] ~[15] 0 12 0 ~ 5[ of /
5 - 4 A | & ~l85] 0 | / ~ 0 12 5] ~ 0 12 [<5] ~[15] 0 12 0 ~ ] o/
5 - 5 A | & ~l s [ o/ ~ 0 12 07 [ ~ 0 12 o7 ] ~[16] 0 12 0 ~| 12 of /
5 - 6 A | & ~[82] o |/ ~ 1 12 06 | ~ 6 1206 ~[52] 6 12 [ 500 ~[ 2] o /
5 - 17 A | = ~[78[ o[/ ~ 0 12 05 ~ 0 12 [<o5] ~[18] 0 12 0 ~ o of /
5 - 8 A | & ~[ 84 o |/ ~ 0 12 5] ~ 0 12 [<05] ~[1a] o 12 0 ~ o o[/
5 - 9ol A [ = ~[85[ 0 |/ ~ 0 12 5] ~ 0 12 [<05] ~[o7] 0 12 0 ~ i o/
5 - 10 A [ & ~[85] o |/ ~ 0 12 05[] ~ 0 12 [<w05] ~[o06] 0 12 0 ~I 3l o /
5 - 54 A | = ~[78] o[/ ~ 1 6 05 ~ 0 6 [<«05] ~[07] 0 6 0 ~ 7 o/
5 - N = ~lsol| o |/ ~ 0 12 05] ~ 0 12 [<05] ~[10] 0 12 0 ~ ] o/
5 - A= ~l76[ 0|/ ~ 0 1 09 [ ~ 0 1o ~[15] 0 1 0 ~| 16 of /
5 - N = ~[ 81 o |/ ~ 0 6 05[] ~ 0 6 [<05] ~[09] 0 6 0 ~l 4l ol /
EPN] 5 - A= ~[s1 [ o/ ~ 0 6 05 ~ 0 6 [<«05] ~[14] 0 6 0 ~ 1 of /
EH&’A#‘/{% 5 - A =] ~| 94| 4 /| ~ 11 36 05] ~ 2 36 [ 05 ~[13] 0 12 0 ~| 20 o /
] 5 - A= ~[89 [ 1 [/ ~ 0 12 05 ~ 0 12 <5 ~[11] o 12 0 ~| 18] of /
M4 5 - A =3 ~|1 83| 0 /| ~ 0 12 05] ~ 0 12 [<05] ~[14] 0 12 0 ~ 5 of /
/IMERG 6 - A o ~[83] 0|/ ~ 0 12 5] ~ 0 12 [<05] ~[o9] 0 12 0 ~[ o[ ol /
3y ) | 7 - ]~ ~[81] o |/ ~ 0 12 05[] ~ 0 12 [<w05] ~[o06] 0 12 0 ~I 3l o /
I HE i 7 - 2 A « ~[s1[ o/ ~ 0 12 5] ~ 0 12 [<05] ~[o9] 0 12 0 ~ al o/
i T 2 4 7 - 3]« ~[81] o |/ ~ 0 12 5] ~ 0 12 [<05] ~[<05] 0 12 0 ~ ol o/
I I 7 - 51 AA [ o ~[s0| o[/ ~ 0 1 05 ~ 0 1 [<w05] ~[o6] 0 1 0
i L B 8 -~ 1l | 1 ~[ 74 o |/ ~ 0 12 5] ~ 1 12 [<o5] ~[1a] 1 12 | 83 ~l 8 o /
I s - ol aA [ « ~[85[ 0 [/ ~ 0 12 5] ~ 1 12 [<05] ~[16] 1 12 | 83 ~ 3[ of /
i 8 - 52l AA [ 1 ~l 77 o |/ ~ 0 1 5] ~ 1 4 J<os5] ~[25] 1 1 | 25.0 ~l 4l ol /
I 9 - 1 A [« ~[s1[ o/ ~ 1 12 5] ~ 0 12 <5 ~[11] o 12 0 ~| 20 of /
i e 9 - 51l A [ o« ~[ 72 o |/ ~ 1 1 05] ~ 0 1 [<w0s5] ~[os] 0 1 0 ~ of /
I 10 - 1l aa] « ~[85[ 0 [/ ~ 0 12 05 ~ 0 12 [<05] ~[o9] 0 12 0 ~ of /
i E 10 - 2 AA [ o1 ~[ 88 1 |/ ~ 0 12 5] ~ 0 12 [w05] ~[o7] 0 12 0 ~ of /
I AR - 1l Al 7 ~[ 86| 1 [/ ~ 0 12 06 [ ~ 0 12 o6 ~[17] 0 12 0 ~ of /
i Ui 1 -5 A [ o« ~[86] 1 [/ ~ 0 6 05 | ~ 0 6 {05 ~[18] 0 6 0 ~ of /
EDIES: SR 12 - 1l A« ~[s2] 0|/ ~ 0 12 05 [ ~ 0 12 ]os | ~[17] 0 12 0 ~ of /
G 111)11 A KA 13- 1l A 1 ~[82] 0o [/ ~ 0 12 05[] ~ 0 12 [<w05] ~[o06] 0 12 0 ~ of /
FNIER: A 13 - 2l AaA [ o ~[78[ o[/ ~ 0 12 05 ~ 0 12 [<05] ~[o6] 0 12 0 ~ of /
MIER: SFIE 13 - 51l AA [ o ~[80 o [/ ~ 0 1 5] ~ 0 1 {05 ~ 0 1 0 ~ of /
e iy nanncion | 13 - 53] AA | o ~[78[ o[/ ~ 0 12 05 ~ 0 12 [<05] ~ 0 12 0 ~ of /
G 11)11 Ak AVl 13 - 54] AA [ o1 ~[ 79 o |/ ~ 0 12 «0.5] ~[<0.5] 0 12 [<05] ~ 0 12 0 ~ of /
)1k [T N 13 - 56] AA | A ~[s0| o[/ ~ 14 36 05 ~[10] o 36 [<05] ~ 0 12 0 ~ of /
MIER: pIEa 13 - 57 AA [ A ~[ 79 o |/ ~ 0 12 «0.5] ~[<0.5] 0 12 [<05] ~ 0 12 0 ~ of /
{31 (F 25 R i 4 - 1A ] o« ~[85[ 0 |/ ~ 0 12 05 ~[10] 0 12 [<05] ~ 0 12 0 ~ of /
1 (H1) = i 14 - 2l AAT A ~79] 0 [ / ~ 0 12 05] ~[07] 0 12 1<0.5] ~ 0 12 0 ~ ol /
[EAEIICD) | i £ 4 - 3l AA ] « ~[s1 [ o/ ~ 0 12 05 ~los5] 0 12 [<05] ~ 0 12 0 ~ of /
g1 () ARzl 14 - 4] AA | A ~[ 80 0 [ / ~ 0 12 05] ~[06] 0 12 1<0.5] ~ 0 12 0 ~ o /I
()i (2) — ki 15 - 1l A « ~[85[ 0o [/ ~ 0 12 05 ~loo] o 12 [<05] ~ 0 12 0 ~ of /
EJICHE) Pk 16 - 1] AN A ~l 78] 0 [/ ~ 0 12 05] ~[<05] 0 12 1<0.5] ~ 0 12 0 ~ ol /
G IR 16 - 2 AA [ ~[79] 0o [/ ~ 0 12 «05] ~[<05] 0 12 [<05] ~ 0 12 0 ~ of /
LI (2) DA 17 - 1 A [« ~[ 86 1 |/ ~ 0 12 05 ~[1o] o 12 [<05] ~ 0 12 0 ~ of /
JI(Z, 11 LM 17 - 51 A [« ~[85[ 0 |/ ~ 0 12 05| ~[12] 0 12 [<05] ~ 0 6 0 ~ of /
etk |k = 18 - 1] AA A ~l 73] 0 /| ~ 1 12 05| ~[08] 0 12 [<05] ~ 0 12 0 ~ of /
EENIER: 18 Ui T 18 - 51 AA [ o ~l77 ] o[/ ~ 0 1 «0.5] ~[<«05] o 4 [<ws5] ~ 0 1 0 ~ of /
/N KIS TN 202 - 1 ~[ 9.0 /| ~ 4 23 | ~[35 4 23| ~ 4 ~ /
eSS i A 203 - 1 ~[ 95 / ~ 1 1.0 | ~[32 4 1o ~ 4 ~ /
FH IR DN 204 - 1 ~| 89 /| ~ 12 05 ~[ 15 12 [<05] ~ 12 ~ /|
)1 st K 205 - 2 ~[ 78 / ~ 6 «05] ~lo05 6 [<05] ~ 6 ~ /
EWWMX St 205 - 5 ~[ 8.1 / ~ 6 «05] ~To6 6 |05 ~ 6 ~ /
[RIERE ExiZa 205 - 8 ~[ 75 / ~ 6 16| ~[38 6 | 16| ~ 6 ~ /
2 BB
pH COD(mg/L) K F5 B B¢ S(MPN/100ml)
ki HAE BAH—ES | W2 o N BI~BA N I e — E;H’Fﬁlfi . R 7 o
JEEEF )11 EINE 500 - 1] B A ~[ 81l of / ~ 36 18] ~| a6l o [ /[ 36l 19] ~[ 32 of /[ 12 o ~ 2] / 6! 130&{ /I 36
R 211380 VENIEN 501 - 2] B A ~| 86! 1 / ~ 36, 17 ~| 3.9 0 /L 36] 1.9] ~| 3.1 of /[ 12! 0 ~ ol / 5
RS LKL [ A 502 - 1] A [ « ~[ 95 5]/ ~ 48 13 ~| a8l 4 [ /] as] 18] ~[ 29[ of /[ 12 o ~ 1/ 2| ~ 5[ /
RS SRR | AR 503 - 1] A A ~| 8.4 of / ~ 36, 0.7 ~| 24 0 | /[ 36[ 1.1] ~| 2.1 of /[ 12! 0 ~ o /I 1 ~ 3| /1
(27 Rk H Wi 503 - 52 A | A ~[ 8ol 1[/ ~ 24 ol ~ 23] o [ /A 18] 1o ~ 19 o / 0 ~ of / 1 ~ 5] /
IR AR | T 503 - 54] A | 1 ~[ 78] o[ / ~ 12 | ~ vt o [/ el vl ~] Al o A 12 o ~ of / 1 ~ 2 /
A AR [ A 504 - 1] A [ « ~[ 85 ol / ~ ’aﬁl i ~] a3 5 [ / Sﬁl rol ~[ 3] i A 2] 83 ~ 1/ 2| ~ ul /
i EINITY 506 - 1] A [ ~[ il ol /] ~ 2| 13 ~] 28] o [/ 2a] val ~[ 23 of /J 12 o ~ of / 1 ~ 1/
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